(z(6th Sin.)-Geography-G/(DSE-B-2)/CBCS )

2023

GEOGRAPHY — GENERAL
Paper : DSE-B-2
(Population Geography)

ot Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Category - A

Answer any five questions (each within 50 words).

~

optimum population?

ify two causes of unequal distribution of population.




(3) (2(6th Sm.)-Geography-G/DSE-B-2)/cBCS)
Category - C 2
Answer any two questions (each within 500 words). 10x2 if‘i'
= ‘],’ﬁ

C the Demographic Transition Model with diagram.

‘Give an account of the Population Resource Regions with examples after Ackerman.
SR
Discuss the positive and negative impacts of migration.
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